Mathematics – Grade 8

Curriculum Development and School Improvement- Secondary

MA.8.A.1.1 – Worksheet 1

Name:  ______________________________________ Date:  ____/____/____ Period:  _______


1. AT&T charges for text messages sent as shown in the table below.

[image: image1.png]Text Messages

Number | Cost
1 $0.17
2 $0.34
3 $0.51
4 $0.68





Based on the information in the table, which of the following is a valid statement about the text messages charges from AT&T?

A.  the data is discrete with a range 
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B. the data is continuous with a range of 
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C. the data is discrete with a range 
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D. the data is continuous with a range 
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2. FAU offers tickets to their basketball games as shown in the table below. 

 [image: image6.png]FAU Basketball Ticket Plans

Number of Tickets

40

20

10

Cost per Ticket

$17.50

$19.25

$22.00

$28.50





What is the domain of the set of data from the table?

F.    {40, 20, 10, 1}
G.    {17.50, 19.25, 22.00, 28.50}
H.    {57.50, 39.25, 32.00, 29.50}
I.     {13.50, 0.75, -12.00, -27.50}
3. Ms. Kern is planning a graduation party for her son Carson.  She creates the following chart to help her plan for the cost of the party.  
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About how much should it cost Ms. Kern if 35 people attend the party?

A.  $300
B.  $350
C.  $400
D.  $450
4. Coach Clark is planning a car wash to raise money for his middle school basketball team.  The graph below shows the amount of money that the team could earn based on the number of cars washed.
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What is the range of the set of data shown in the graph?

F.     {1, 3, 5, 7}
G.     {1, 2, 3, 4, 5}
H.  {10, 20, 30, 40, 50, 60}
I.  {10, 20, 30, 40, 50}  

5. Based on the information in the table for Coach Clark’s fund raiser, which of the following is a valid statement about the amount of money raised by washing 5 cars?
A.  the data is discrete with a range 
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B.  the data is continuous with a range of 
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C.  the data is discrete with a range 
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D. the data is continuous with a range of 
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